YCTHO:

Peminre ypaBHeHHe:
10.21, a) x* = 4; 6) x* = 16; B) x*=9; r) x? = 25.

10.22, a) x* = 5; 6) x*=11; B) x! =13; r)x*=17.

10.27. Ilpn KAKOM JHAYEHHH NEPEMEHHON BEPHO PABEHCTBO:

a) Jx = 11; 8) Jx =1,1;
6) Vx = %; M) Vx = 22



10.23. a) %x’ = 75: B) -;-x’ = 24:
6) 4x° — 28 = 0; r) 8x* - 78 = 0.

75. Pemnre ypasuenue:
1) x2 =4: 4) x* = -36;
2) x* =17; 5) (x +3)F =100;
3) (x -8) =0; 6) (x -4) = 6.



Henoapaysa onpejeeHne KBAJAPATHONO KOPHA, PeIIUTe ypas-
HEHHEe:!

10.38. a) Jx- = 3; B) Jx+ = 5;
6)J4x+l=7; r)\/7x-l=l.

10.39. a) 289 - x* = 8; B) V25 - x* =0;

6) Jx* + 144 = 18; r) Jx* - 144 =5,



74.

Pemure ypaBHeHue:

1) Vx = 5;
2)»{-:;,2-;

3) Vx -8 = 0;

4) 2Jx -9 =0;

5)-;-&+4=0;
6) V6x -3 = 0;

7) V6x -3 = 0;

- — - -

8) V6x -3 = 2

9)%-:3;

10
10 = {2
‘ 3:-4
11) J3+J5+\/; = 3;
12) (x -1)Wx2 -4 = 0.




74.

75.

a3

Pemrure ypaBHeHMe:

1) JVx = 5; 7) V6x -3 = 0;
2)J’=§; 8) V6xr-3 = 2:
3) Jx -8 = 0: 9) 3L = 3.

) VX )J}

4) 2Jx -9 = 0; 10) 22 = 5:
. B
5) VX +4=0; 11) Y3+ 5+ vx = 8;

6) Véx -3 = 0; 12) (x -1t -4 = 0.
Peunre ypapnenue:

1) x2 =4; 4) x* = -36;

2) x* =17; 5) (x +3)F =100;

3) (x -8 =0; 6) (x -4y = 6.



